Published on dated 26/08/2025 in Dainik Jagran, Lucknow (Hindi), Hindustan Times, Lucknow (English), Times of India, New Delhi (English) & The New Indian Express, (South Edition)

DR. RAM MANOHAR LOHIA INSTITUTE OF MEDICAL SCIENCES

VIBHUTI KHAND , GOMTI NAGAR, LUCKNOW- 226 010 Phones: 0522-4918510, Fax 0522-4918506 Website : www.drrmlims.ac.in

Ref. No. RMLIMS/MM(Eq)/2025-26/1133

Tender Notice

On-line offers are invited through GEM bidding from Original Equipment Manufacturer/Direct Importers/Authorized Distributors (declared by principal firm only) for the supply & installation of various Equipments for the various departments in the Institute.

The Vendors are required to submit their offer on GEM portal only in two bids system i.e. technical & financial bid as per norms of GeM portal.

For more details information like Name of Equipments, Date of Submission and opening of bid etc., you may please visit the GeM portal www.gem.gov.in, The list of equipment will also be available on our website www.drrmlims.ac.in for reference only. The offer will be accepted On–Line only on GeM portal with terms and conditions as mentioned in GeM bidding document.

The Director reserves the right to accept or reject any tenders in part or full without assigning any reason thereof.

Director

Date: 25.08.2025

<u>Sr.</u> <u>No.</u>	Name Of Department	Name Of Equipments	Qty.	Unit Estimated Cost	Total Estimated Cost	Bid No.	Tender Time
1		Cath Lab	1	8,00,00,000.00	8,00,00,000.00	GEM/2025/B/6583646 dated 25/08/2025	1st Time
2		TMT Machine	2	46,00,000.00	92,00,000.00	GEM/2025/B/6581069 dated 25/08/2025	1st Time
3		ECHO High-End Machine	1	1,80,00,000.00	1,80,00,000.00	GEM/2025/B/6585280 dated 25/08/2025	1st Time
4	Cardiology	Portable ECHO Machine with Adult, Pediatric and Linear Probes	1	40,00,000.00	40,00,000.00	GEM/2025/B/6585562 dated 25/08/2025	1st Time
5		Portable ECHO Machine 1 with TEE Probes	1	1,00,00,000.00	1,00,00,000.00	GEM/2025/B/6585654 dated 25/08/2025	1st Time
6		HD IVUS	1	1,50,00,000.00	1,50,00,000.00	GEM/2025/B/6665787 dated 11/09/2025	1st Time
7		ABG Machine	1	10,00,000.00	10,00,000.00	GEM/2025/B/6585765 dated 25/08/2025	1st Time
8		Penumbra Device	1	30,00,000.00	30,00,000.00	GEM/2025/B/6665865 dated 11/09/2025	1st Time
9	Endocrine Surgery	OT Table	1	46,00,000.00	46,00,000.00	GEM/2025/B/6585861 dated 25/08/2025	1st Time

10		Electrocautery Machine	1	26,00,000.00	26,00,000.00	GEM/2025/B/6637308 dated 06/09/2025	1st Time
11	Microbiology	Inverted Microscope	1	5,50,000.00	5,50,000.00	GEM/2025/B/6615723 dated 09/09/2025	1st Time
12	Neurology	Fundus Photography Camera	1	20,00,000.00	20,00,000.00	GEM/2025/B/6589555 dated 29/08/2025	1st Time
13	Nuclear Medicine	Dual Head SPECT-CT Machine with required software and accessories	1	8,25,00,000.00	8,25,00,000.00	GEM/2025/B/6589919 dated 28/08/2025	1st Time
14	PMR	High Resolution Ultrasound Machine with musculoskeletal Probes	1	40,00,000.00	40,00,000.00	GEM/2025/B/6615666 dated 27/08/2025	1st Time
15	Radiodiagnosis	High-End High Frequency Ultrasound for MSK and Elastography	1	1,30,00,000.00	1,30,00,000.00	GEM/2025/B/6592621 dated 04/09/2025	1st Time
16	Emergency	CRRT with ECCOR facility Machine	1	22,00,000.00	22,00,000.00	GEM/2025/B/6603407 dated 04/09/2025	1st Time
17	Medicine	Portable Hand Held X- Ray Machine	1	64,00,000.00	64,00,000.00	GEM/2025/B/6660175 dated 11/09/2025	1st Time
18		Anesthesia Workstation (Basic)	1	20,00,000.00	20,00,000.00	GEM/2025/B/6616044 dated 02/09/2025	1st Time
19		Anesthesia Workstation (High- End)	1	45,00,000.00	45,00,000.00	GEM/2025/B/6616075 dated 02/09/2025	1st Time
20		Anesthesia Workstation (Advanced)	2	75,00,000.00	1,50,00,000.00	GEM/2025/B/6616252 dated 02/09/2025	1st Time
21		MRI Compatible Anaesthesia Workstation with Monitor	1	70,00,000.00	70,00,000.00	GEM/2025/B/6616318 dated 02/09/2025	1st Time
22		CPET Machine	1	50,00,000.00	50,00,000.00	GEM/2025/B/6661164 dated 10/09/2025	1st Time
23	Anesthesiology (For OTs)	Ultrasound Machine with TEE Probe	1	55,00,000.00	55,00,000.00	GEM/2025/B/6625243 dated 06/09/2025	1st Time
24		TCI Pump	2	3,00,000.00	6,00,000.00	GEM/2025/B/6661763 dated 10/09/2025	1st Time
25		PCA Pump	5	5,00,000.00	25,00,000.00	GEM/2025/B/6661840 dated 10/09/2025	1st Time
26		Bronchoscope	1	50,00,000.00	50,00,000.00	GEM/2025/B/6625300 dated 09/09/2025	1st Time
27		TOF Monitor	2	3,00,000.00	6,00,000.00	GEM/2025/B/6661902 dated 10/09/2025	1st Time
28		Cardiac Output Monitor	1	60,00,000.00	60,00,000.00	GEM/2025/B/6637204 dated 06/09/2025	1st Time
29	Anesthesiology	Multipara Monitor with EEG Facility	7	11,50,000.00	80,50,000.00	GEM/2025/B/6625366 dated 06/09/2025	1st Time
30	(For ICUs)	Auto CPR with Defibrillator	1	70,00,000.00	70,00,000.00	GEM/2025/B/6625419 dated 06/09/2025	1st Time
				1	,		

31		Vein Viewer	4	1,50,000.00	6,00,000.00	GEM/2025/B/6625577 dated 06/09/2025	1st Time
32		Temporary Pacemaker	2	3,15,000.00	6,30,000.00	GEM/2025/B/6625474 dated 06/09/2025	1st Time
33	Biochemistry (Research Lab)	DNA/RNA Extractor	1	15,00,000.00	15,00,000.00	GEM/2025/B/6599828 dated 04/09/2025	1st Time
34	Biochemistry (Central Research Lab)	Microwave Digestion System	1	30,00,000.00	30,00,000.00	GEM/2025/B/6599905 dated 08/09/2025	1st Time
35	Nephrology	Ultrasound Machine	1	25,00,000.00	25,00,000.00	GEM/2025/B/6603545 dated 08/09/2025	1st Time
36		Hemodialysis Machine	3	9,00,000.00	27,00,000.00	GEM/2025/B/6603642 dated 08/09/2025	1st Time
37		High End Anesthesia Workstation	1	45,00,000.00	45,00,000.00	GEM/2025/B/6625653 dated 06/09/2025	1st Time
38	Liver Transplant Unit	Advance Multipara Monitor	4	11,00,000.00	44,00,000.00	GEM/2025/B/6625679 dated 06/092025	1st Time
39	(Anesthesiology Division)	High-End ICU Bed	4	3,00,000.00	12,00,000.00	GEM/2025/B/6625705 dated 06/09/2025	1st Time
40		Portable Ultrasound Machine	1	25,00,000.00	25,00,000.00	GEM/2025/B/6625742 dated 06/09/2025	1st Time
41	ENT	ENT Workstation	1	20,00,000.00	20,00,000.00	GEM/2025/B/6603263 dated 08/09/2025	1st Time
42		Electrocautery Machine	1	21,00,000.00	21,00,000.00	GEM/2025/B/6603309 dated 08/09/2025	1st Time
43	General Surgery	C- Arm Machine	1	35,00,000.00	35,00,000.00	GEM/2025/B/6603733 dated 08/09/2025	1st Time
44		Portable Ultrasound Machine	1	25,00,000.00	25,00,000.00	GEM/2025/B/6603775 dated 08/09/2025	1st Time
45	Respiratory Medicine	Endobronchial Ultrasound (EBUS) Radial & Convex Probe With Standalone USG System	1	1,80,00,000.00	1,80,00,000.00	GEM/2025/B/6599072 dated 01/09/2025	1st Time
46		Optical Biometer	1	75,00,000.00	75,00,000.00	GEM/2025/B/6662044 dated 10/09/2025	1st Time
47		Green Laser with data injector Facilities in Slit Lamp	1	1,30,00,000.00	1,30,00,000.00	GEM/2025/B/6662134 dated 11/09/2025	1st Time
48	Ophthalmology	A B-Scan Ultrasound with Ultrasound Bio Microscopy	1	60,00,000.00	60,00,000.00	GEM/2025/B/6603146 dated 08/09/2025	1st Time
49		Perkins Tonometer	2	2,50,000.00	5,00,000.00	GEM/2025/B/6662210 dated 10/09/2025	1st Time
50		Specular Microscope	1	30,00,000.00	30,00,000.00	GEM/2025/B/6662255 dated 10/09/2025	1st Time
51		Direct Ophthalmoscope	2	50,000.00	1,00,000.00	GEM/2025/B/6662307 dated 10/09/2025	1st Time
•	<u> </u>						

52		Phacoemulsification Machine	1	1,00,00,000.00	1,00,00,000.00	GEM/2025/B/6603180 dated 08/09/2025	1st Time		
53	Orthopedics	Battery Operated Drill System	2	28,00,000.00	56,00,000.00	GEM/2025/B/6632724 dated 06/09/2025	1st Time		
54		Hand Held USG Machine	1	18,00,000.00	18,00,000.00	GEM/2025/B/6632186 dated 06/09/2025	1st Time		
55	General Medicine	High-Flow Nasal Cannula (HFNC)	3	4,50,000.00	13,50,000.00	GEM/2025/B/6632065 dated 06/09/2025	1st Time		
56		ABG Machine	1	10,00,000.00	10,00,000.00	GEM/2025/B/6631879 dated 06/09/2025	1st Time		
57	Anatomy	Ultrasound Machine	1	25,00,000.00	25,00,000.00	GEM/2025/B/6631755 dated 06/09/2025	1st Time		
58		Syringe Infusion Pump	180	60,000.00	1,08,00,000.00	GEM/2025/B/6618304 dated 02/09/2025	1st Time		
59		Defibrillator	30	4,00,000.00	1,20,00,000.00	GEM/2025/B/6625004 dated 06/09/2025	1st Time		
60		Suction Machine	25	75,000.00	18,75,000.00	GEM/2025/B/6618421 dated 02/09/2025	1st Time		
61		Patient Warmer	45	2,65,000.00	1,19,25,000.00	GEM/2025/B/6618519 dated 02/09/2025	1st Time		
62		ECG Machine	20	1,80,000.00	36,00,000.00	GEM/2025/B/6618618 dated 02/09/2025	1st Time		
63		Fowler Bed (Electric)	135	80,000.00	1,08,00,000.00	GEM/2025/B/6618743 dated 02/09/2025	1st Time		
64		Multipara Monitor	122	4,00,000.00	4,88,00,000.00	GEM/2025/B/6624732 dated 06/09/2025	1st Time		
65		High-End Multipara Monitor	30	11,50,000.00	3,45,00,000.00	GEM/2025/B/6618897 dated 02/09/2025	1st Time		
66	Hospital Use	Fluid Warmer	4	2,00,000.00	8,00,000.00	GEM/2025/B/6619081 dated 02/09/2025	1st Time		
67		Bi-PAP Machine	10	4,10,000.00	41,00,000.00	GEM/2025/B/6619144 dated 02/09/2025	1st Time		
68		Digital Blood Pressure Monitor	15	3,50,000.00	52,50,000.00	GEM/2025/B/6635151 dated 06/09/2025	1st Time		
69		Portable OT Light	5	3,50,000.00	17,50,000.00	GEM/2025/B/6620817 dated 02/09/2025	1st Time		
70		ICU Bed	10	1,50,000.00	15,00,000.00	GEM/2025/B/6620923 dated 02/09/2025	1st Time		
71		Transport Monitor	3	3,50,000.00	10,50,000.00	GEM/2025/B/6624672 dated 06/09/2025	1st Time		
72		DVT Pump	25	2,50,000.00	62,50,000.00	GEM/2025/B/6621093 dated 06/09/2025	1st Time		
73		Transport Ventilator	2	15,00,000.00	30,00,000.00	GEM/2025/B/6637113 dated 06/09/2025	1st Time		
74		Ventilator	23	18,00,000.00	4,14,00,000.00	GEM/2025/B/6621145 dated 02/09/2025	1st Time		
1									

Rest equipments' bid will be uploaded soon